
l;=g+= sfo{s|dsf] ljj/0f
cf=j= @)&@.)&# sf] 

cg'dflgt ah]6  @)&@ dfu{ 
dlxgfdf k|fKt /sd

1 a=p=lz=g+= #^%*)## gu/kflnsf cg'bfg 11,331,000.00     
2 a=p=lz=g+= #^%*!&# :yfgLo ljsf; z'Ns sf]if k"+lhut 5,210,000.00       
3 a=p=lz=g+= #^%*!(# :yf=zf=tyf ;f= lj= sfo{s|d 4,000,000.00       
4 a=p=lz=g+= #^%*)## g=kf c'g'bfg rfn' 5,658,000.00       
5 ;fdflhs ;'/Iff sfo{s|d 17,999,000.00     
6 zx/L :jf:Yo sfo{s|d 312,000.00          
7 cfGtl/s >f]t tkm{ 14,100,000.00     375,088.50   
8 /fhZj af+8kmf+8 -/lhi6|\]zg z'Ns ;d]t_ 12,100,000.00     
9 bdsn Joj:yfkg -lh=lj=;/ uf=lj=; cg'bfg_ 500,000.00          

10 ;8s af]8{ sfo{s|d dd{t ;+ef/ sf]if 5,200,000.00       
11 hu]8f sf]if sfo{s|d 19,500,000.00     
12 hg;xeflutf sfo{s|d 2,530,000.00       
13 uf=lj=; ;+rfng cg'bfg 815,000.00          
14 uf=lj=; k"lhut cg'bfg 3,500,000.00       
15 ut aif{sf] df}Hbft

hDdf M 102,755,000.00   375,088.50   

an/fd Gof}kfg] lg/g e§/fO{
cfly{s k|zf;g zfvf sfo{sf/L clws[t

slknj:t' gu/kflnsf sfof{no
tf}lnxjf, slknj:t'

cf=j @)&@.)&# dfl;s cfo Joo ljj/0f ;fj{hlgs ul/Psf] 

slknj:t' gu/kflnsfsf] pGgfO;f}+ gu/kl/ifbaf6 cf=j= @)&@.)&# sf] sfo{s|d tyf a     
ut] :jLs[t ePsf]  ePsf]df ;f] adf]lhd @)&@ dfu{  dlxgfdf b]xfo adf]lhdsf] cfo     



 @)&@ dfu{ dlxgfdf 
ePsf] vr{

s}=

19,100.00      

19,100.00      

 t

  
 

       f ;"rgf

         ah]6 @)&! kf}if @( 
             o Joo ePsf] 5 . 


	marga

